## UNIVERSITY OF EDUCATION, WINNEBA

TIMETABLE FOR END-OF-SEMESTER EXAMINATIONS (GENERAL PAPERS)

## **SECOND SEMESTER 2021**

## MONDAY, 6TH SEPTEMBER - WEDNESDAY, 8TH SEPTEMBER 2021

	COURSE TITLE	Department	LEVEL	Class Number
		Art Education	100	4
	FDC101   .   .   .   .   .   .	Social Studies	100	
	EDC121: Introduction to Educational Technology	Music	100	
		French	100	
		Mathematics	100	
ŀ	TOTAL			2
_		8:00 - 9:00 AM		
		AJUMAKO	100	:
		History	100	
	EDC121: Introduction to Educational	Counselling Psychology	100	
	Technology	Management Management	100	
	reamology	Accounting	100	
		HPERS	100	
	TOTAL	Applied Linguistics	100	
	TOTAL		100	1:
	TOTAL	9:30 - 10:30 AM Social Studies	300	1:
	TOTAL	9:30 - 10:30 AM  Social Studies Special Education	100	1:
		9:30 - 10:30 AM  Social Studies  Special Education Music	300 300 300 300 300	1:
	EDC361: Measurement, Evaluation &	9:30 - 10:30 AM  Social Studies Special Education	300 300 300 300 300 300	1:
		9:30 - 10:30 AM  Social Studies  Special Education Music Home Economics English History	300 300 300 300 300 300 300	1:
	EDC361: Measurement, Evaluation &	9:30 - 10:30 AM  Social Studies  Special Education Music Home Economics English History Rehab	300 300 300 300 300 300 300 300	1:
	EDC361: Measurement, Evaluation &	9:30 - 10:30 AM  Social Studies  Special Education Music Home Economics English History Rehab Art	300 300 300 300 300 300 300 300 300	1:
	EDC361: Measurement, Evaluation &	9:30 - 10:30 AM  Social Studies  Special Education Music Home Economics English History Rehab Art Integrated Sciences	300 300 300 300 300 300 300 300 300	17
	EDC361: Measurement, Evaluation &	9:30 - 10:30 AM  Social Studies  Special Education Music Home Economics English History Rehab Art Integrated Sciences Health Admin	300 300 300 300 300 300 300 300 300 300	17
	EDC361: Measurement, Evaluation &	9:30 - 10:30 AM  Social Studies  Special Education Music Home Economics English History Rehab Art Integrated Sciences	300 300 300 300 300 300 300 300 300	17

INE GENERAL COURSES EXAMINATION TIM	FINAL OFFICIAL VERSION 11:00 AM - 12:30 PM	END-OF-SEMESTER EXAMINAT	END-OF-SEMESTER EXAMINATIONS AUGUST	
	Physics	300	76	
	Biology	300	152	
EDC361: Measurement, Evaluation &	Chemistry	300	111	
Statistics in Education	French	300	256	
Statistics in Education	ICT	300	353	
	Counselling Psychology	300	92	
OTAL	Courselling rsychology	300	1040	
	1:0PM - 2:00 PM			
	History	200	217	
	Applied Linguistics	200	162	
	Art	200	366	
	Biology	200	132	
	Integrated Science	200	256	
	Physics	200	89	
	Music	200	110	
EDC241: Psychology of Human	Chemistry	200	111	
	Mathematics	200	386	
Development and Learning	Accounting	200	269	
	Health Administration	200	54	
	Human Resource	200	277	
	Banking	200	72	
	Procurment	200	113	
	Marketing	200	41	
	Special Education	200	229	
OTAL	-		2884	
	2.20DM 2.20 DM			
	2:30PM - 3:30 PM Political Science	300	579	
	Geography	300	363	
	Economics	300	334	
	HPERS	300	122	
EDC242: Trends in Education & School		300	354	
Management in Ghana	Accounting	300	331	
Management in Shaha	Banking & Finance	300	93	
	Marketing & Procurement	300	166	
	Human Resource	300	173	
	AJUMAKO	300	540	
OTAL			3057	
	4:00 PM ₽ <b>aξ:00</b> PM			
	GPD122A: Governance and Democracy in Traditional Africa	100	532	

	GPD122B: Africa in the Modern World	100	601
African Studies	GPD122C: African Integration	100	371
	GPD122D: The Economies of African States and the Structural Adjustment Programme	100	354
OTAL		100	1858
	6:00 AM - 7:00 AM		
DEPQRTMENT	COURSE CODE/COURSE TITEL	LEVEL NO	
	GPD122E: The Impact of Slavery and the Slave Trade on Africa's Development	100	650
	GPD122F: Colonialism in British and French Africa and its Impact	100	283
African Studies	GPD122G: The Rise of Nationalism in Africa	100	250
	GPD122H: The Military in African Politics	100	281
	GPD122I: Gender and Development in Africa	100	600
TOTAL			2064
	7:30 AM - 8:30 AM		
	GPD122J: Conflicts and Conflict Management in Africa	100	620
A fortage Characters	GPD122K: Public Administration, and Bureaucracy and Corruption in Africa	100	525
African Studies	GPD122L: Africa Oral Literature	100	500
	GPD122M: Economic Development in West Africa	100	539
TOTAL			2184
	9:00AM-10:00AM		
DEPARTMENT	COURSE CODE	LEVEL	NO
	GPD122N: Christianity in Africa	100	619
African Studies	GPD122P: Population Growth and Development in Africa	100	750
	GPD122Q: Traditional Festivals in African Societies	100	650
TOTAL			2019
	10.00414 11.00414		
	10:30AM - 11:30AM	100	000
	GPD122R: African Family and Kinship Systems	100	900
A fortage Characters	GPD122T: African Traditional Religions	100	750 341
African Studies	GPD122U: Modern Trends in Religion and the New Religious Movements	100	
	GPD122X: African Diaspora Music and Contemporary Popular Music	100	250 248
TOTAL	GPD122Z: History of African Art and Issues in Art Education in Africa	100	
TOTAL			2489
	12:00PM -1:00 PM		
Political Science	1 Z:OUF MI = 1:OU FMI	200	911
CT		200	494
Geography	EDC232: PRINCIPLES AND PRACTICE OF TEACHING	200	579
AJUMAKO	EDC202. I KINGII EEU AND I KACIICE OF TEACHING	200	680
		200	<b>2664</b>
IOIAL			
TOTAL	1:30PM <sup>P</sup> ₫₤\$O₽M	<u> </u>	

200

731

DATE

Social Studies

ILINE GENERAL COURSES EXAMINA	TION TIMETABLE FINAL OFFICIAL VERSION EN	ID-OF-SEMESTER EXAMINAT	IONS AUG
Rehabilitation		200	212
Economics		200	443
Home Economics	EDC232: PRINCIPLES AND PRACTICE OF TEACHING	200	416
English	EDC232. TRINGILES AND TRACTICE OF TEACHING	200	370
Special Education		200	229
Applied Linguistics		200	120
			2521
	3:00PM - 4:00PM		
French	EDC232: PRINCIPLES AND PRACTICE OF TEACHING	200	270
HPERS	EDC232: PRINCIPLES AND PRACTICE OF TEACHING	200	252
Political Science		100	1282
Geography	EDC111: School Curriculum, Social Change & National Development	100	673
TOTAL			2477
	4:30PM - 5:30PM		
DEPARTMENT	COURSE CODE	LEVEL	
English		100	332
Home Economics		100	532
Special Education		100	345
HPERS	EDC111: School Curriculum, Social Change & National Development	100	334
Biology		100	156
Chemistry		100	85
Physics		100	73
Integrated Science		100	155
TOTAL			2012
	6:00 AM - 7:00 AM		
DEPARTMENT	6:00 AM - 7:00 AM COURSE CODE	LEVEL NO	
Social Studies		300	
Social Studies Special Education		300 300	148
Social Studies Special Education Music		300 300 300	494 148 86
Social Studies Special Education Music Home Economics	COURSE CODE	300 300 300 300	148 86 263
Social Studies Special Education Music Home Economics English		300 300 300 300 300	148 86 263 348
Social Studies Special Education Music Home Economics English History	COURSE CODE	300 300 300 300 300 300	148 86 263 348 104
Social Studies Special Education Music Home Economics English History Rehabilation	COURSE CODE	300 300 300 300 300 300 300	148 86 263 348 104 150
Social Studies Special Education Music Home Economics English History Rehabilation Art	COURSE CODE	300 300 300 300 300 300 300 300	148 86 263 348 104 150 292
Social Studies Special Education Music Home Economics English History Rehabilation	COURSE CODE	300 300 300 300 300 300 300	148 86 263 348 104 150 292
Social Studies Special Education Music Home Economics English History Rehabilation Art Applied Linquistics	COURSE CODE	300 300 300 300 300 300 300 300	148 86 263 348 104 150 292 27
Social Studies Special Education Music Home Economics English History Rehabilation Art Applied Linquistics	COURSE CODE	300 300 300 300 300 300 300 300	148 86 263 348 104 150 292

LINE GENERAL COURSES EXAMINATION TIMETABLE	FINAL OFFICIAL VERSION	END-OF-SEMESTER EXAMIN	
Physics		300	76
Biology		300	152
Chemistry	EDC351: GUIDANCE AND COUNSELLING IN EDUCATION	300	111
French	ED COOT. COID/AIRCE / AIRD COOTROLLEIN CO II V ED COMMON	300	256
ICT		300	353
Political Science		300	579
Health Admin		300	85
TOTAL			1805
	9:00 AM - 10:00 AM		
Geography	7:00 AM - 10:00 AM	300	365
Economics		300	334
HPERS		300	122
Mathematics	EDC351: GUIDANCE AND COUNSELLING IN EDUCATION	300	354
Health Administration		300	54 54
AJUMAKO		300	560
Theatre Arts		100	61
Special Education	GPD111: Communication Skills	100	142
Psychology (Post Dip & B.Ed)	Grotti: Communication Skins	100	156
TOTAL		100	2148
	10:30AM - 11:30 AM		
Political Science	GPD111: Communication Skills	100	1250
Social Studies	Of B111. Commonication owns	100	837
TOTAL			2087
	12:00PM - 1:00PM		
Goegraphy	12.001 M = 1.001 M	100	670
Economics		100	522
ART	GPD111: Communication Skills	100	530
Graphic Design (BA & DIP)		100	311
Music (BA & B.Ed & Diploma)		100	193
moste (pri a brea a bipionia)		1 177	
	1:30PM - 2:30PM		2226
Social Studies		200	750
Political Science	CDD222 INTDODUCTION TO CDECIM EDUCATION	200	1000
History	GPD233: INTRODUCTION TO SPECIAL EDUCATION	200	250
Applied Linguistics		200	170
TOTAL			2170

4:30PM - 5:30PM				
Basic Education		100	355	
Rehabilitation		100	200	
Special Education	GPD113: Introduction to ICT	100	150	
Political Science		100	1201	
Early Childhood		100	160	
TOTAL			2066	1

	6:00PM - 7:00 PM		
Social Studies		100	900
Geography History	GPD113: Introduction to ICT	100	820
	GPD113: Introduction to ICI	100	250
Theatre Arts		100	61
TOTAL			2031